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1. Answer any five questions from the following: | 3x5=15
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(a) What does a logician mean by an 'argument'? How is it different from an 'inference'?
Discuss.
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(b} Is a proposition same as a sentence? Examine.
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(c) Can an invalid argument have a true conclusion? Justify with the help of an example.
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(d) How is a deductive argument different from an inductive argument? Discuss with
examples.
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(e) How do you recognize an argument as different from an explanation, Discuss.
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(f) What is a dilemma? How can we refute it? Explain.
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2. How is the denotative meaning of a term different from its connotative meaning?
Discuss. ' 5
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Write a short note on the difference betwesn a term and a word.
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What are the differeat kinds of definitions? Discuss any two of them with examples. §
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Discuss three basic functions of language. 5
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- In how many ways two people may agree and disagree about a phenomenon or a

situation. Discuss.
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Change the following propositions into their standard logical forms (Do any threej

1x3=3
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(a) A man is never perfect.
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(b) Only braves are winners.
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(c) Not all good writers are good speakers.
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(d) Students are mostly disciplined.
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(e) Few doctors are surgeons.
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Express any two of the following proposition as equations or inequalities as per
Boolean interpretation and also symbolize them by means of Venn diagram.
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(a) Some artists are poets.
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(b) All logicians are mathematicians.
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(c) Some students are not politicians .
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(a) If the following proposition is false, what can be inferred about the
truth/falsity of its opposites?
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All businessmen are wealthy people.
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(b) What role does a blanket existential presupposition play in the rescuing the
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8. (a Give the contraposition of any two the following. 1'2x2=3
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(1) Some citizens are not voters,
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(i)  No lizards are mammals.
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(i)  Some students are intelligent.
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(b) If "Some philosophers are mathematicjans" is true, what may be inferred about
the truth or falsehood of the following. (do any two) 2x2=3
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(i) All mathematicians are non-philosophers.
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(i)  Some philosophers are not non-mathematicians.
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(iii)  No non mathematicians are philosophers.
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9. (a) What is a categorical syllogism? How to determine the mood and figure of a

categorical syllogism?

3
ﬁ?ﬁam@ﬁawé?ﬁvwmzﬁrmwmwmﬁaﬁmm%?

(b) Test the Validity/Invalidity of any two arguments by using the rules of
syllogism. 6x2=12
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(i) Some scientist are not professors. All professors are hardworking people. That is
why some scientist are not hardworking people.
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(ii) No power-hungry person is a philosopher; so, no philosopher is a politician, since
all politician are power-hungry persons.
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(iif) Some carbon compounds are not precious stones, since some carbon compounds
are diamonds and some diamonds are not precious stones,
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(c) Test the Validity/Invalidity of any one of the following by means of Venn
diagram.
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10.In what mood or moods, if any, can a second figure standard form categorical
syllogism with a universal conclusion be valid?
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Prove that the minor premise must be affirmative in figure I and figure I of
syllogism.
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